








A . ) : - 1l : ] :
| ale 1A O 14 «] i
iz «1510 0 s { l . . - :
. - ' : 23S 10
~oymbins
Ny , o
b S IE - LA - AL &, V - :







33. If P(E) = 0.38, then probability of 'not E' is
(A) 0.72 (8) 0.73

(C) 062 (D) 05

34. Four cubes each of side 4 cm are joined
end to end. The surface area of the resuiting
solid is
(A) 144 cm? (B) 16cm?

(C) 288 cm? (D) none of these

35. Haryanacomes second after in
cattle breeding in India.

(A) Karnataka (B) Punjab

(C) Gujarath (D) Tamil Nadu

Read the following statements.

1. Atpresentin India there are more than
750 universities.

Sarva Siksha Abhiyan is aimed at
providing elementary education to
all children in the age group of 7-14.
years.

Select the right answer code.

(A) Both are wrong 3
(B) 1only
(C) Bothare right

2

42018 (1) (E18)
33. 7 P(E) =038, T ‘EF & F1 MR &
(A) 0.72 (B) 0.73
“C) 0.62 (0) 05
34. 4B N A 4 TH FI AEH T T
& |y g T 2 | oo 21 5 getE
HIFH 2
(A) 144 cm? “(B) 16cm?
1C) 288 cm? (D) F7H A FE T
Bftmon yra | gyred § Co
AR |
(A) T “B) TIE
(C) T (D) afeFarg

36. Frafatas wuEt =1 gfze |
1. WG # 39 999 750 favataaeal &

e |-
2. |4 foren sham F1 AR 7-14 T4 Y
Y Rg | st vl 51 S fran
3T FOR |
. @ImEatu e
l. (A) it e #
i ) = H
(C) i war ¥

0 ¥z

w3 7% Ok a3 ) :
~ 37. THEvar qof
L, 1 2



39.

40.

41.

42.

4/2018 (1) (E18)

I’k means '+, ‘m’ means ‘-, ‘n' means 'x’,
and ‘p' means '+ then 15n2k5mépd=
(A) 16 (B) 6

(C) 6% (D) none of these

Five years ago, a woman's age was the
square of her son's age. Ten years later,
her age will be twice that of her son’s age.
Find the present age of the woman.

(A) 25 years
(C) 20years

(B) 24 years
(D) 30 years

If 0 is the zero of the polynomial
f(x) = 2ax? + (a + 1)x — 5a then value ofais

(A) 5
(B) 0
(C) 1
(D) none of these

A musical instrument with single string
attached to a Bamboo piece is called as

(A) Chimta (B) Drum
(C) Damru (D) Iktara

Which of the following is incorrect with
reference to the urbanisation process under
British rule in the 19" century ?

(A) Inthe process new urban spaces
called Civil Lines were set up, to
accommodate Indian elites

> British, the “Black” areas
mbolise not only chaos and
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44. Find the word which is different from the

45.

47.

other 3 options given below.
(A) Polite

(8) Citizen

(C) Impatient

(D) Humble

To welcome rains
celebrated in Haryana.

(A) Deepavali

(B) Onam

(C) Teegj

(D) Naga Panchami

festival is

The Istands of this archipelago have storm.
beaches consisting of unconsolidated
pebbles, shingles, cobbles and boulders.

on the eastern seaboard. Here the island
refers to

(A) Andaman and Nicobar ‘J
(B) Gulf Mannar

(C) Rann of Kuchchh

(D) Lakshadweep and Minteoy

The values of x and y s
equations (a — b) x + (& + n)é,ﬁu,__
and(a+b)(x+y)=4atr e
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Change the voice.
g9. They had not done their work.

AA) Their work had not been done by

them'
(B) Their work was not done by them
(C) They have not done their work +
(D) Their work is not done by them %

70. Whom did you laugh at ?
_(A) By whom was you laughed at ?
(B) Who was laughed at by you ?
(C) You were laughed at by whom ?
(D) Did you laugh at who ?

Eill in the blanks with appropriate prepositions.

It is very different to enter

partnership with a person you do not know
very well.
(A) into

-(8) on

(C) with &

(D) by

71.

72. A Banyan tree stands ___——

(A) at
s

English Langu2de
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until midnight lgft nig’ht.

e
(A iaRveTead
(B) |have been reading
~(c) Iam reading
(D) | was reading

74

Use appropriate modals to fill in the blanks.

75. Do not put off till tomorrow what you
do today.

would

could

will

can

(A)
(B)
(©)
D)

76. | ran fast so that |

train.
(A)
(8)
—1C)
(D)

should L
may
shall
will

Fill in the b e
lanks with the cort ect options.

77. Hedoesnlt PR i







